50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 1SMATDIP41
Fourth Semester B.E. Degree Examinawfi;bh&;“ Jan./Feb. 2023
Additional Mathematlcs -1
Time: 3 hrs. “**%é Max. Marks: 100
Note: Answer any FIVE full questions, choosmg ONE full question froﬁ: each module.
1 Find the rank of the matrix

2 -1 -3 -1
A= i (2) ':’ _11 by ap (06 Marks)
01 1 -1 ' N .
Solve the following sy tem of equations using Gauss elimination method :
X—-2y+3z=2,3x— '§f +4z=4and 2x + ¥= 2z 5. (07 Marks)
Find the eigen \é@}ﬁes@of ‘ -
6
A= (07 Marks)
Find the rank of the matrlx’by reducing if to echetan form %“”““””" ;
1 2 2 4D Ola® o *
a=|? 3 2AS o gﬁi - (06 Marks)
3 5 : o e _
4 -1 23 2 NN

Test for con51stency and solva@ic@;l- 3y+7z=4, 3 #26y +2z=9, 7x + 2y + 10z =5.

,,,,, . (07 Marks)
Solve:t ollowmg system of ‘equations by Gauss elimination method :
x+2y+z—3 2x+3y4% ;rIO 3x—y+2z—13 (07 Marks)

mem )
JW&@?%
%, Module-2
Find the mterpolat‘mg polynomlal ior the following values.
; W . N;%e %1; ﬁ{m& # X O ] 2 3
fay, ~ < fix)[1[2]1]10
And hence evaluate f(4). . (06 Marks)
The Newton— Raphson rx‘fé@l@d to find a real root of the equation
X +x°+3x+ 4 0 b}iwp”érfonnmg two iterations. ' (07 Marks)
Evaluate j b7 by Weddle’s rule taking seven ordinates. (07 Marks)
+x
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OR
4 a. Using Newton’s interpolation formula find y(1.4) giyen e
X|1(2]3 ¢ 5

Y | 10|26 w112 | 194
Y (06 Marks)
b. Find the real root of the equation cosx = 3x correct upto three decimal using Regula
Falsi method. e b (07 Marks)
c. Evaluate _[ lib;z by using Simpson’s*¥/3™ rule taking four equg;c}l strips. (07 Marks)

0 Y A

5 a . (06 Marks)
b. (07 Marks)
c. L2y, A ) (07 Marks)
6 a. (06 Marks)
b. (07 Marks)
(07 Marks)
7 (06 Marks)
(07 Marks)
(07 Marks)
8 (06 Marks)
o My
b. Solve 6_x7 =X +Y. . (07 Marks)
0? . 5
c. Solve gf— =z, given th&éwheny=0,z= e* and % =e™". ' (07 Marks)
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Module-5
If A and B are any two events of S which

‘not mutually exclusive then prove that

P(AUB)=P(A)+P(B)-P(ANB) (06 Marks)
Define conditional probability. Given fc %é events A and B, P A —Z—, P(B) = 1/5,
P(AﬂB)— 20" i dP(gJ P( %J (07 Marks)

of their respective output 5%, 4%
| certain day, M, has preduced 25% of the total output,
L4 the remainder. An 1§§m@selected at random is found to be
(07 Marks)

Three machines M;, M, and
and 3% of items are fault

the probability of drawing two balls of the same
) (06 Marks)
(07 Marks)

(07 Marks)



